
OMNI Wheel



2

2

1

x12

M2 x 8mm Wooden tip Screw 2pcs.



3

3

4

M2 x 8mm Wooden tip Screw 3pcs.



4

5

6

M2 x 8mm Screw 6pcs.



5

5

6

M2 Nut 6pcs.



5

5

6

M2 x 8mm Screw 6pcs.



6

7

8

M2 x Nuts 6pcs.


